Table 6 Critical Values of Student’s t-Distribution
1 The entries in this table are the critical values of the Student’s z-distribution, for which the area under the curve is:
' a) in the right-hand tail, or b) in two tails. See the illustrations at the bottom of the page.
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One-tailed example: Two-tailed example:
df =9 and o= 0.10 | df=14, 00=0.02,1 - o= 0.98
Hdf, o) = £(9, 0.10) = 1.38 £(df, o/2) = £(14, 0.01) = 2.62

For specific details about using this table to find confidence coefficients, see pages 185-187; p-values, pages 189-191; critical values, pages 185, 188,
Table 6 was generated using Minitab.
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Table 7 Probability-Values for Student’s t-distribution

The entries in this table are the p-values related to the right-
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For specific details abaut using this table to find p-values, see pages 189-191.
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